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General Instructions :

(i) The question paper comprises of two sections, A and B. You are to

attempt both the sections.

(ii) All questions are compulsory.
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www.a2zSubjects.com www.a2zSubjects.com



www.a2zSubjects.com

(iii) There is no overall choice. However, internal choice has been
provided in all the three questions of five marks category. Only one

option in such questions is to be attempted.

(iv) All questions of Section A and all questions of Section B are to be

attempted separately.

(v) Question numbers 1 to 6 in Section A and 19 to 21 in Section B are

short answer type questions. These questions carry one mark each.

(vi) Question numbers 7 to 12 in Section A and 22 to 24 in Section B are

short answer type questions and carry two marks each.

(vii) Question numbers 13 to 16 in Section A and 25 and 26 in Section B

are also short answer type questions and carry three marks each.

(viii) Question numbers 17 and 18 in Section A and question number 27 in

Section B are long answer type questions and carry five marks each.

aTaT g : |
(i) 39 Y99 F1 g YFN, 9T 3 SR AT, § qi2T 740 8 | H9F 21 97 %
gl % I fora 81
(i) qvft wv e &)
(iii) R I W FI3 994 917 T8l & Tg -9 3Pl & i 571 § 597
sfiaft 577 faar 7 81 37 9l 4 319 FaT G 9 gl T F IHW
fora % fore g7 a%d 81

(iv) 39! 9FT 3 3R 97T T F G JEI % IR JAH-99F 1T F IR T
fora & |

(v) ST 37 % 997 &A1 1 @ 6 3 97T F F 599 G&47 19 § 21 % 5 B2
3T AT U -TF FF
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(vi) T 3 % Y9 G&F1 7 @ 12 37K 97T T % Y9 G&IAT 22 T 24 F F¥7 31-31
371 % BI2 I ATt & |

(vii) T 31 % 999 §&I1 13 @ 16 3R 9777 9 % 937 G&IT 25 3R 26 F T3 it
- 371 % B12 Ia arct &1

(viii) ST 3 F Y9 G&IAT 17 3R 18 3R 97T & FT 997 G&AT 27 F T
gi=-gie 371 & 3R ol ST aret & |

Section A
9T A

¥ What changes in the colour of iron nails and copper sulphate solution do
you observe after keeping the iron nails dipped in copper sulphate solution

for about 30 minutes ? 1

Fi wethe Frerr & 1 1 el A1 30 firre 7 gaTg T e o el
o R ez Forer ¥ 1 o o e E 7

p A State two characteristic features of carbon which when put together give

rise to a large number of carbon compounds. 1

SRS LIS NS W ST 4
A aa B

e Explain why a ray of light passing through the centre of curvature of a

concave mirror gets reflected along the same path. 1
e ifsrg o et sraaer qdvr o ashar oex | ToRA aTell S <hi famor adur |
QA % TYETq I 99 3 e amaw = o et # |
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4. What is the nature of the image formed by a concave mirror if the

magnification produced by the mirroris + 3 ? 1

afe i s gdu g a9 wfafeas 1 s@da + 3 8, A du g a9 =8
wfefera i 7 w2 7

5. A charged particle enters at right angles into a uniform magnetic field as
shown. What should be the nature of charge on the particle if it begins to
move in a direction pointing vertically out of the page due to its interaction

with the magnetic field ? 1

v

> Magnetic
. Field

A 4

Y

Charged Particle

g AT F el e g & ° foa | quiie srgen &9 & aeag
YA T | AR g & @ i B e Safia v 39 U & i
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v

FrEh
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>
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[
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6. Name the part of our eyes that helps us to focus near and distant objects in

quick succession. 1

T 35 % 39 9 1 T fofae s fehe aon @ el axget it gea wiea
T HETd] AT & |

7 What happens when an aqueous solution of sodium sulphate reacts
with an aqueous solution of barium chloride ? State the physical conditions
of reactants in which the reaction between them will not take place. Write
the balanced chemical equation for the reaction and name the type of

reaction. . ' 2

P 1 2 S B wet 3 e foer o S Feiee 3 wei feem 8
T St 3 7 39 shife arfef 1 seona i o o 2 ST
S5 ot iR 7 B B At o1 At T e e
arfrferan & waRr =1 A oft difse

8. What is the main constituent of biogas ? How is biogas obtained from

biomass ? Write any two advantages of using this gas. | 2

A (S99 1 I9E G99 F7 2 7 30 STTHTT § HE YT S S e ? 3|
4 1 ITFM FA * HIs 1 o fafag )
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9. In the figure given below a narrow beam of white light is shown to pass
through a triangular glass prism. After passing through the prism it

produces a spectrum XY on a screen.

(a)  State the colourseenat X and Y.

~(b) Why do different colours of white light bend through different

angles with respect to the incident beam of light ?

= i3 7 o § qwiiu 7gar vad Y &1 gden g1 et Pysen & %
TSrem @ Tt 2| Trw © e % v 9 Ue W S WEeH XY S 2
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(1) Xau Yy R @ 37 aet avi 1 3eoia iR

(@) Tisw & 9 F uvanq vaa yew & fafte aof smufee fror & amm
AT -3 10 T H GEd & 7

10. What is a solenoid ? Draw the pattern of magnetic field lines of a solenoid
through which a steady current flows. What does the pattern of field lines

inside the solenoid indicate ? 2

uferferen et =ed & 7 foneht Ueht aftenferem 2 grafira & st @1 92 difsm
forerd 1 vt forega, wm wanfea 2ieft 2 1 wienfere 3 sfier it gradhr & tan
o ffde et € 7 '

11. A coil of insulated wire is connected to a galvanometer. What would be

seen if a bar magnet with its north pole towards one face of the coil is
(1) moved quickly towards it,

(i)  moved quickly away from the coil and

(iii)  placed near its one face ?

Name the phenomena involved. 2

Forgaifa ar & =+t #1¢ Foach et fieanfier @ 3t 81 = 2 afe et 2
Grash & IL-4d il FUSc! & frdl U Boish

(i) = IR g Tife | A S,

(i)  ffa nifa & 9 ger e, a9

(iti) * Fwew@femsm?

39 92T & foru Iaeerht wae = W fafiau)
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12. Mention any four limitations in harnessing wind energy on a large

scale. 2

9% 9 9 g5 Fell & e H B arefl el 9] ararett # Seord
Fifs |

13. At what distance should an object be placed from a convex lens of focal
length 18 cm to obtain an image at 24 cm from it on the other side. What

will be the magnification produced in this case ? 3

18 cm Bi%E g & I9d o9 ¥ Rl fom & fFat gt W w@n 9=
=1ee o 3wer wfafera <@ & 24 om &l @ WA 7 39 feufa & smada fea
g ?

14. No chemical reaction takes place when granules of a solid, A, are
mixed with the powder of another solid, B. However when the mixture is
heated, a reaction takes place between its components. One of the
products, C, is a metal and settles down in thé molten state while the other
product, D, floats over it. It was observed that the reaction is highly

exothermic.

(1) Based on the given information make an assumption about A and B
and write a chemical equation for the chemical reaction indicating
the conditions of reaction, physical state of reactants and products

and thermal status of reaction.

(i)  Mention any two types of reactions under which above chemical

reaction can be classified. . 3
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a7 2@ T o6 TR 3, A, % R gahet aun TRt 3= 3, B, & Ui 1
fiem w3 v i sifufean T8 @, ag e e W s w1
R At # @t 3wmE, C 991 D s9d &1 3., C, UF 91g @ S 54
JEET | U | 9 A 8, Fefeh I, D, 36 FUL oAl el ¢ | 0T o gHd
Iz rfufsran srcafirs Semendt o € |

(i) WW%IWWAWB%EﬁﬂWWQWTWﬁE
e B S sy s S S A A 55
o, W s v T A i e R sl F e
®q %1 e a8

() T @ ywr it afulrmet F m fofae Sl s il
e T < werar 2|

15. Name the functional group of organic compounds that can be
hydrogenated. With the help of suitable example explain the process of
hydrogenation mentioning the conditions of the reaction and any one
change in physical property with the formation of the product. Name any

one natural source of organic compounds that are hydrogenated. 3
T eI AR % e ae 1 T e e arggisr

ST TRl & | 3fd IS i g ¥ wEsisHIEw i ufskar ansEe) |
it ¥ fore s 7 T e 7 @ 2 At Pl e s e 7
Seoia hifsr | et T8 e i dta @1 A faflay fess wEt dife &
HESERiERURC R I

31/1/1 9 [P.T.O.

www.a2zSubjects.com www.a2zSubjects.com



www.a2zSubjects.com

16. Atoms of eight elements A, B, C, D, E, F, G and H have the same
number of electronic shells but different number of electrons in their
outermost shell. It was found that elements A anld G combine to form an
ionic compound. Thi; compound is added in a small amount to
almost all vegetable dishes during cooking. Oxides of elements A and
B are basic in nature while those of E and F are acidic. The oxide of D is
almost neutral. Based on the above information answer the following

questions :

(i)  To which group or period of the periodic table do the listed elements

belong ?

(i)  What would be the nature of compound formed by a combination of

elements B and F ?
(i1)  Which two of these elements could definitely be metals ?

(iv) Which one of the eight elements is most likely to be found in

gaseous state at room temperature ?

(v)  If the number of electrons in the outermost shell of elements C and
G be 3 and 7 respectively, write the formula of the compound

formed by the combination of C and G. | 3
AB aedi A, B, C, D, E, F, G 991 H H ¥ Weieh WHTY] § Sciagi-1 hivil ol dEA
T R, TG $7h aeIan w1 & geragl o ae form-fre 1 7w arn e
Aed A 99T G T8I N hiah Ueh A1 AMfiTes o41d € fordesT 319 7 8 3w
ey wft il ot a9 # fofn Stan B 1 @@ A @9 B % sifedmsel i W
G ], Seifeh E T F o, 3iTa0Tse 31l & | ded D 1 ATa1ee T 3eF
2| 3T SIS & 3uR ) Frefafga et & s difsm
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(v) IR a9 C a9 G % «Tead HI9 § HAI: 3 GU7 7 o9 &, a1 Fh
AT | =4 A 1 TEE e g3 fafa |

17. Write the names and symbols of two most reactive metals belonging to
group I of the periodic table. Explain by drawing electronic structure how
either one of the two metals reacts with a halogen. With which name is the
bond formed between these elements known and what is the class of the |
compound so formed known ? State any four physical properties of such

compounds. ; 5

Or

What is meant by refining of a metals ? Name the most widely used method
of refining impure metals produced by various reduction processes.
Describe with the help of a labelled diagram how this method may be used

for refining of copper.

s W 35 g 1 36 e A & i i ) ergait % et
ﬁqﬁmmaﬁgwwﬂm%ﬁﬁ%#@w%@ﬂ%@mﬂ
fore e st st 21 39 ol & e & ey qon Afirenl 3 agE # e
AT/ ST ST 2 ¢ 39 ARt 3 feredl = i 1Tt = Ieera ifsrg)
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HAgan

aTgat % it @ 7 ared § 7 fafie sroeem vt g W enpe ange
I uitsha A il gad At yafera &ty 1 am fofaw)| amifea sma #i
Al ¥ S & gitento # 3@ f&af w1 s 9 R s asar 2, s

feraor fafig |

18. Derive the expression for the heat produced due to a current ‘I’ flowing for
a time interval ‘7’ through a resistor ‘R’ having a potential difference ‘V°
across its ends. With which name is the relation known ? How much heat
will an instrument of 12W produce in one minute if it is connected to a

battery of 12V ? 5

Or

Explain with the help of a labelled circuit diagram how you will find
the resistanc'e of a combination of three resistors, of resistance R;, R,
and Rj, joined in parallel. Also mention how you will connect the ammeter
and the voltmeter in the circuit when measuring the current in the circuit
and the potential difference across one of the three resistors of the

combination.

Toreft wfertiers <R* & forees Rl & e favar=m 2 R, ¢ w99 -3t & fa
U/ Y o ST T 3 B et S o fg e ger il =
aY ! foRE A 8 S STaT 2 7 12V Sl el | A 12W 1 IS ST
wF fire ae ura vafed B W et S e e

HAgan
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Frifard oy g 6 gerar @ wy e F R, R, 997 R, 3y & o=
yferieent @l qrvdsn § GRS A w3 TeH & iy 3 e yeR I
1| 78 +ft Tow Fifsre fo s § yarfed am qun fodi v gioras &0 %
e favara Y 7 F e s e qun e #Y uiay § B TR
w6 |

'Section B
qam«d

19. Name the green dot like structures in some cells observed by a student

when a leaf peel was viewed under a microscope. What is this green colour
due to ?

fordt oeft & foois @1 gewesl § Yau Fd 9w frelt @@ 3 39 FifEE
¥ fomg wdt 2@ wAnd 3@ | & e @ am fafaw) @7 0 o e s
g g ?

20. How is the spinal cord protected in the human body ? 1

e TR 3§ Bty Y G FA A B 7

21. How is the increasing demand for energy adversely affecting our

environment ? 1

1 61 et e g et 8 P s g A 3 7
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22. What are hormones ? Name the hormone secreted by thyroid and state its

function. -

AT T B4 & 7 TeX1ae ER Gifad 2181 =1 AT 9971 39! i gy |

23.  With the help of diagrams show the different stages of binary fission in
Amocba. 2

wyeftan & fe@ves & fafira = =1 emat gr gz

24.  Give one example each of characters that are inherited and the ones that are
acquired in humans. Mention the difference between the inherited and the

acquired characters. R : 2
T o Sfa et § 3tfSia a1 39 ST §C AL H Yo HI TH-Teh IaT
forfau | 3wl wa sngafirs @@ % =r =1 Ieei@ Hifs |

25.  Write the full form of DNA. Name the part of the cell where it is located.

Explain its role in the process of reproduction of the cell. 3

DNA &1 Ui wifsdss & foafau | oz #ifvem & o am 3 fee 2, g am
forfaw | =ifarerT 3 S99 werm ® gaeh! iR TE Fifg |

26. Explain the phenomenon of “biological magnification.” How does it affect
organisms belonging to different trophic levels particularly the tertiary

consumers ? 3
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27. Explain the process of digestion of food in mouth, stomach and small

intestine in human body. 5

Or

(a)  List the three events that occur during the process of photosynthesis.

Explain the role of stomata in this process.

(b) Describe an experiment to show that “sunlight is essential for

photosynthesis.”

e YRR § §g (JEE), AW a9 gEA § WS ured # abe W
Hiferg |

HAgat

(31) WEHITEYSITU % WA % SNF Tid B areft oA weAredt i geft s
79 W § 1g1 6t fiee v fifsg |

(@) ' ew % foe & *“erreraveryw % fore o w1y s @7 Rt
ek YH 1T 1 Ui hifog |
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